B B F #H #F 8B =X
I % & W a — F  No.lH180517B
® X E & a — K No
% B OEF & a — K No
% # @& i 0.00 ni|FA & vy
wOHE B H 2018 4 5 A
B O£ @& i 468.93 ni | #&|RCiE
2 @ # & F R ERE £ K E M 1,185.59 ni |Bs H(GhTE): o (iR 3 (PH): 0
= X m & A ® T E K B X M 5 000 m
A & b H 0 i ¥ 1] i i |F o) B ) 290 m
BF ks 0 # E 1] i | L) A =3 000 m
B & £ # 2 O£ B O MW i |5+ A % 0.09 m/Eni
B o) OE %l B B B B 000 ni|®& = =1 & 983 m
B W = %R — F @ 0.00 ni
AWM REH ile & 7 « @ # 000 mi|- = @ ® = X
EHR R EH AL 3= —@H 5220 nil= # =
E B & A 000 mIF 5 4 T U7 & MK 0.00 nilux & A % A
w4k [ % 0.00 ni
E] k3 A B AREESEHE m
I # k3 Al B E Yy +E B M@ #» W B E & NTEHE &
FA | % od & B W mlE B ow B B A %EEEE &
7oL - F Ot # 2 » B R
L8 E % 2] B % "
BT Eky MK 533 HWREI PE] E ® g ® 0.00
NNEZERRK 0.9 EER 58] P . -
B8 K 235 Vs ail ® i
FRESIES 7.6 8-y s8] i ® s
e —hRAIK 13.3 =173 1.8 ’ =
FANEIR: 2 15 0 0.0 :
0 0.0 0 0.0 % fad g & 0.00
0 0.0 0 0.0 ” .
B 0 0.0 0 0.0 £ # % 0.00
TREE 0.0 0 0.0 .
" 0 0.0 0 oo = |['F ¥ % 0.00
& 0 0.0 " P
0 0.0 " £ e S 0.00 m
0 0.0 -
0 00| 1R = & 0.00 m
0 0.0 "
) 00 # [id il
0 00 # i T #
0.00
ERERE oo (m/Bm) 1.03 — L
531 36 = 0.00
REERKA 84.7 + n 5
FINAUE 1.8 EREH Fweeek (m/FE m) 0.76 0.00
0 0.0 FIN G 6.0 W *
0 0.0 E-L90Z 76.9 k 0.00
0 0.0 | R ERER 3.9 9 2
0 0.0 cD 30 0.00
0 0.0 EET 18 . N
£ 0 0.0 ¥'179HR 5.9 = 0.00
0 0.0 Bk# 2.5 . =
B 0 00 0 00 % & 5 #
0 0.0 0 0.0 (T -5R1K)
0 00 0 00| RTIEE 000 m3/&m
0 00|BERLTE 000 m3/&m
" 0 0.0] b (FEEE) 000 m3/@&m
= 0 0.0| i EER) 000 m3/Em
0 0.0 (H1) 000 A/Em
SREEEE ok (mi/ZEm) 0.85 0 0.0 %EGy7 L) 000 m3/Em
FANLIRE 311 0 0.0[10iED 000 m/@m
TY T {hLARt6 47 0 [ BE3 000 m/Em
HiRRY 124 0 0.0[tyMEFEE 000 m/Em
& [A37°:HkAl 35.2 0 0.0] &HEavY)-+ 000 m3/Em
EVERH BE 16.5 0 0.0[3Favy)-+ 000 m3/FEm
0 00 0 0.0] E&B2v5)-F 000 m3/FEm
ES FEREY 08|z a5+ 000 m3/Em
EETE AR ook (M /EM) 214  ERERR 000 m/Em
EAT{ - —F BRI Hkk (m/ZEN ) 0.00 BiRERY 08 FE# 000 m/EMm
BFRE sorx (m/F ) 0.23 E'=-I902 26.3| EERE 000 m/Em
0 0.0 1E3tPB 67.5| ERER A 000 keg/ZEm
0 0.0 cD 0.6]3 T 85 000 keg/ZEm
0 0.0 iR 0.5| LR Ek A 000 keg/ZEm
7 0 0.0 2t 19| 000  A\Ffi/ton
0 0.0 Bk#/R 1.1|8&E 000 keg/ZBm
0 0.0 VC/R 13|88 000  m/ton
& 0 00| BEE 000  m/ton
0 0.0] it KK 000  m/ton
x
x 0 00
0 0.0) (ZD1th)
TIE 25.3 0 0.0] R#4 (48:E#1) 000 m3/Em
ATULA 0.0 0 0.0] R# GEAE#) 000 m3/Em
s [xF 0.0 0 00
& |732F7 0.0 0 0.0
B [vvs- 0.0
o [h=5u9-n 0.0
B [xE 74.7
Z Dt 0.0
S EBBH O Zoerx (mi /ZEm) 0.19 R I EFR oo (mi/ZEm) 0.78[(H e )
TIE 0.0 RC 36.21
ATULR 0.0 cB
"’; e 00 ALC
Fi 75379 0.0 AR AV MR
P 0.0 R
m | RE 00| py (LGS 33.30
£ [WAREED
RERB O Fxsrorr (m/ZEm) 023| ¢ [EESMEY 30.48
FRHAFLUR —F t50 B 0
Wi [FRHAFLUE -} 125 E3 0
FRHAFLUR - t25 X
B |3371-L 126 = IRC] (ni/FE i) 0.00
#974—4 126 PN Z Dt ] (mi/FEm) 0.41




